Explanation
Our diagram shows the value applied to field 1's right
margin, field 2's left margin and the total gap applied once|
the product is in MegaEdit.

Self
Uses the distance taken from the InDesign file.

Even though Invent displays both the left and right
margins as the total gap, it is only counted once.

Value
Combines the margins specified on both fields to calculate|
the total distance

Auto
Allows a weighting to be applied between the available
space to control the distribution.

If all margins between fields have a weighting of 1 then
the spacing will be equal.

If margins are weighted unequally, they will be given a
different proportion of the available gap.

Auto
When considering the gap to the boundary, | Left
remember there is only 1 margin being | Boundary

considered, not 2.
To get equal spacing in all gaps, the gaps to
the boundary should be weighted higher
than the gaps between fields.

Right Margin_| _ Left Margin

Field 1 Total Gap in MegaEdit Field 2
SELF
aomm | omm
Field 1 Tomm Field 2
VALUE
somm | omm
Field 1 Zomm Field 2
VALUE
omm 10mm
Field 1 Tomm Field 2
AuTO
Weight 1 Weight 1
Field 1 Smm Smm Field 2
Available Gap 10mm
AuTO
Weight 2 Weight 1
Field 1 6.6mm 3.3mm Field 2
Available Gap 10mm
AuTO
Weight 2 Weight 1 Weight 1 Weight 2
Field 1 Field 2
10mm m 10mm

‘Available gap (not including fields) 30mm
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